
 

 

 



 



 



 



 



 

 



 

 



 



 

 



 

 



 

 

 



 

 



 

 

 



 

 



 

 



 

 



 

 



 



 

 

 

 



 

• 

• 



 

• 

• 

• 



 

 

 

 



 

 



 



 

 

 



 

 



 

𝐻2𝑂2 + 𝐹𝑒2+ → 𝑂𝐻− + 𝐻𝑂 ∙ +𝐹𝑒3+

𝐻2𝑂2 + 𝐻𝑂 · → 𝐻𝑂𝑂 · + 𝐻2𝑂

𝐹𝑒3+ + 𝑂𝑂𝐻 · → 𝑂2 + 𝐻+ + 𝐹𝑒2+

 



 

 

• 

• 

• 

• 

• 



 

 

 

 

 



 

 

 



 

 

 

λ

θ 

 

 



 

 

 

 



 

 

 

 



 

 

μ

μ



 

μ

 



 

 



 



 

 

 



 

In
te

n
si

d
ad

 (
u

. a
.)

 

2 θ ( ) 



 

In
te

n
si

d
ad

 (
u

. a
.)

 

2 θ ( ) 

In
te

n
si

d
ad

 (
u

. a
.)

 

2 θ ( ) 



 

In
te

n
si

d
ad

 (
u

. a
.)

 

2 θ ( ) 

In
te

n
si

d
ad

 (
u

. a
.)

 

2 θ ( ) 

In
te

n
si

d
ad

 (
u

. a
.)

 

2 θ ( ) 



 

 

In
te

n
si

d
ad

 (
u

. a
.)

 

2 θ ( ) 



 



 

 



 

 



 

≈

 



 

 



 



 



 

 



 



 

 

 



 



 



 

𝑉0 = 𝑉𝑚𝑎𝑥
[𝑆]

𝐾𝑀+[𝑆]

1

𝑉0
=

𝐾𝑀

𝑉𝑚𝑎𝑥

1

[𝑆]
+

1

𝑉𝑚𝑎𝑥



 



 

 



 

 



 



 



 



 



 



 



 

 

• 

• 

• 

• 

• 

• 



 

• 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 


